CHAPTER 9 TEST B



Name: __________________________

Directions: Show all work.


Section: _________________________

1. Which one of the following formulae will produce the sequence 
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2. A sequence is defined recursively by 
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Which one of the following gives the first 6 terms of this sequence?
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3. Which one of the following sequences gives the first 5 terms of the geometric series 
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4. Which one of the following is a simplification of the sum 
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5. Which one of the following series is geometric?
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6. Which one he following is equivalent to 
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7. Find the next three terms of the arithmetic sequence: 
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8. Find the 15th term in the arithmetic sequence: 
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9. Find the first four terms in the sequence whose 
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10. Find the first five terms of the recursively defined sequence:
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11. A flea soap claims to remove 80% of a dog’s fleas per bath.  If there are initially 355 fleas on a dog, find a formula for the number of fleas on the dog after its nth bath.


12. Find the sum of the first 17 terms of the sequence 
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13. Find the sum of the first 4 terms of the sequence 
[image: image47.wmf]{

}

n

a

, where 
[image: image48.wmf](

)

1

1

6

2

n

n

a

-

=

.


14. A gambler bets $1 on the first bet, $2 on the second bet, $4 on the third bet and, in general, $
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 on the nth bet.  What total amount will the gambler have bet after the 9th bet?


15. Write the series 
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 in expanded form.  Simplify terms in the expansion.


16. Evaluate the infinite series: 
[image: image51.wmf](

)

1

1

0.0775

k

k

¥

=

-

å

.


17. Find a fraction equivalent to the decimal: 
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18. Write 
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19. What is the coefficient of 
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20.  Arnold borrowed $70,000 at 6% annual interest to purchase a cultivator.  If the interest is compounded monthly and he pays $400 per month towards the loan, simplify a formula for the amount he owes after n months.


21. Approximate 
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to twelve significant digits.



22. Approximate to five significant digits the 80th term in the sequence 
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23. Evaluate many terms for the recursive sequence defined by: 
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What happens to the sequence as n increases?



24. Approximate 
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25. Find the number of ways to pick a jury of 12 from a jury pool of 50: 
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Solutions For Chapter 9 Test Form B.

	1. b
	2. b
	3. a
	4. a
	5. c
	6. e
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21. On the TI-85, the sum can be found using the SUM SEQ on the MATH menu: [image: image83.png]17€1=1523R,
> Bao01¢ana37s
N it

e







22. 
[image: image84.wmf](

)

320

80

1.00057871.2034

B

»»

.


23. Get the sequence started and then keep hitting “Enter” to produce values as shown.  The sequence approaches 0.285714285714 [image: image85.png]
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